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' W4 - Factor ax? + bx + c wherea # 1 Unit 3
' MPM2D
\ Jensen

1) Factor, if possible.

2 2 2

a)2x*+7x+5 L x5 -0 b)6);+19y+8£x5_:% )4k +15k+9 [o 4 _
o asess 2=t 5= SO4HEYIE | 3 s = eRekAY a3 =15
= A ()50 = J‘i\(%%)*lﬁs% = B (ke r3(ke3)
= (a1 (Fxx5) - (33*@ Caﬁ”) = (k) (Her3)

d)3m* +10m +8 [ 4 -2 e) 10w + 15w +3[ T ) 12¢* +17q+6[ 94 , g _ 7

P N T o B s I Y A R R I W e Sy

= Ty (i) i () = 39 ()2 (H+2)

= (m—\-?l-)(}wﬁ lf) = qugd( 3¢ >

g)4x2 —11x+6 -2 x-3 =t h)5n2 —11n+6 -4 x -5=10 i)9b2_24b+7ﬂxi=é@

- dxre (2B D=0 S5bn-Sntb  [th 28 =l | gl qi-sler] [+ 2> =~
= 4y (2-3) ~3(2-2) = n(5n6)-1(5n- L) = (3b-7)-1Gb-7)
= (-3 (4-3) = (5n=6)(n-1) = (36-7)(3b-1)










































































































































































































1) 5h? — 14h — 3
= B 15 th -3

Zlsx 1 =-15
A5+ ) =1y

= 8 (h3) +l(w-3)

= (W-3Y5w)

0) 9x2 — 9xy — 4y?
= 9 g3y

-1 x 3 =-3¢
A+ 3 =-9

= 3y (3x-49)+y 34y
= (3 y)(3ry)

r)10r2 —22r + 4

j)3y2+4y—7 l)(i‘—a"\ k)8k2—6k—5 "I_O)(H_:‘L}O
APy Tydy ) [ELHI2= 4 =gkokek-s |4 o= o6
= ) Gy) - heihcs)ies)
= (30) CT\) = (Hk-5)(2kl)
m) 3x2 + 7xy + 2y? n) 2p? — 11pq + 5q°
& x1 =6 “lox-) =10
:‘51<1+€x5+\%3+9\3; 4| =TT :Q\fl’]oﬁ'lf"fs‘zl j—Q:'_\_'—"H
= 3 (2H3+ y(rdy) - 2p(p-59)-9 (p-59)
= () (3 y) = (p-5)(2p-9)
p) 8k? — 16k + 6 q) 6m? — 14m — 12
" 6 x-d = 18~ . EY _ - |
= W= Bk D) P =2(3m=m-6) [z x 2 ="K
2 — =94+ X =-7
= 2 (MR- L2k D)

=2 (&K (2-3) 1@k

= L(ak-)ak-\)

= l( 3= Efw\)c&m-é)

= A(s¢= +'=L>

= d E'b’m (m —3)+Mm-3)]

= L (m-3)(3emra)

“lg xz) =10

o+l =)

-4 (‘5\)‘-—[0(— -l *L)
=1L 5c (e-2) -Ue2) ]

< 2(v=)(5c-1)













































































































































































































s) 2x3 + 9x? + 4x

2 xz5=1I0
:(3(533/‘71 +FL) A+ -5=-7

% x 1 =% t) 5x%y — 7xy + 2y
cx (T ) [ Lt =1

= (W Ea 4\ +4)
=% [ (ath) 4| () ]
- X (xw)(a%\j

= %( 5~ ¢ - 5x +9~\

=4 2 (D) sy )
= A (-1

2) A rectangle has area defined by 6x2 + 13x — 8.

a) Factor to find algebraic expressions for the length and width % Area s
R S 6x> +13x — 8
A: G+l 3% - 16 x-3 =-% =
= dx (31\—?\’\(3%‘5) e +-3=13
_ (3%*@(%“\—) Length?
L—Eﬁ%’\’\ =z 3x+ 3
Wi&dx\ = Ay~ \

b) If x = 10 cm, what is the perimeter and area of the rectangle?
P=2ftdw
P= 2 (3d) # A(3x-1)
P=a {3(@%}@{1(\@—)]

.A - /[w
A= (3%%)(2x-1)

A= (309045 [aci0) -]

P =3 (3%) +2.(19) A= (39)(9)
P =1 cen A = T3 oM
Answers

1)a) 2x +5)(x+1) b) By +8)(2y + 1) c) (4k + 3)(k + 3) d) B3m + 4)(m + 2) e) not possible f) (3q + 2)(4q + 3)
g (x—2)(4x—-3) h)5n—-6)(n—1) ) Bb—-1)Bb—-7) By +7)(y—1) k) 2k +1)(4k —5) 1) (5h + 1)(h —3)
m) (3x + y)(x + 2y) n) (2p —q)(p — 5q) o) (3x +y)(3x — 4y) p) 2(2k — 1)(2k — 3) q) 2(3m + 2)(m — 3)

r)2(5r —1)(r—2) s)x(2x+ 1)(x+4) ) y(5x —2)(x — 1)

2) lengthis 3x + 8; widthis 2x — 1 b) P = 114 cm; A = 722 cm?
























































































